Relation between

Time, Speed & Distance
Concept Lecture - 2
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The speeds of A and B are in ratio 3: 4. A
takes 20 minutes more than B to reach a
destination. In what time does A reach the
destination?

AR BAT T 3: 4 F Ieua A 21 A
F ddeq aF AN A B § 20 e
FF FHT ot Bl A A P wEw A
ST d TgAdm §7

/{1% hour b)2§ hour

c) 2 hour d) 1% hour




A and B travel the same distance at speeds
of 9 km/h and 10 km/h respectively. If A
takes 36 minutes more than B, the distance
travelled by each is

A 3T B A 9 fFAY / wer 3k 10
foradt / wer & aifar @ gaTer g Fr e
d &1 I A B B ¥ 36 Ade 3=
AT ST 5, df IAF qar’T aF #

LERC U
a) 4;‘:2m \,5{54 km

c) 60 km d) 66 km




A car covers a certain distance in 4.5 hours.
If the speed is increased by 5 km/h, it
would take half hour less,to cover the same
distance. Find the slower speed of the car:
TF FR 4.5 € # & AfRaad gff a¥
HTh &1 I afa F 5 fFevEer @ Tar
& ome, A gt a9 FA H 3
gel A e &R Hr o afa @
qdT See:

a) 50km/h %40km/h

c)45km/h d) 60km/h
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The time taken in covering a certain journey
decreases by 45 min when the speed is increased
from 10km/h to 20 km/h. What is the
difference between the time taken when the
same distance is covered at a speed of 40 km/h
and 25 km/h?

sq afd & 10km/h @ @R 20km/h
fFar Srar & ar R N qAT A H

A e AT A 45 $1 weldl g
art 3 PR 3W g M 40km/h T
25km/h Y afd & a7 Far se ot Q= &
eufaat & o9 are 99T &1 IR AT F
a) 12.5 min 13.5 min

c) 18 min d) None of these
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A man with 3/5 of his usual speed reaches
the destination 2.5 hours late. Find the usual
time to reach the destination.

YA AT Afd FT 3/5 § TAS Qrell
gfdd 2.5 o &8 @ a1dey ad& ggadl
¥ IFeT T UgHS & AT AT
AT PfST: >

a)4 b) 3 /3 75 d)4.5




A train running at 7/11 of its own speed
reached a place in 22 hrs. How much time
could be saved if the train would have run
at its normal speed?

et Afa F 7/11 W Tt W TH o
22 U H UH SO UgHll 3R oo
HU AT Afg § Terdt ar frden
HAG §OEAT ST hdl 17

a) 14 b) 7 /6 d) 16




A student rides on a bicycle at 8 km/h and
reaches his school 2.5 min. late. The next
day he increases his speed to 10 km/h and
reaches school 5 min. early. How far is the
school from his house?

TH O 8 fhdAl/ger i IFdR & dArsfha
wmm%sﬁtmmﬁzs
Adae T ¥ uggar B A fed aE
3=l A1fy 10 FeAVeer a& aeEr § 3k
A H 5 ﬁma—d’rm%l 38
W A TH el g7 87

a) 12 b) 8 jﬁ; d) 10
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Starting from his house one day, a student
walks at a speed of 2.5 km/h and reaches his
school 18 min late. Next day at the same time
he increases his speed by 1 km/h and reaches
the school 6 min . late. How far is the school
from his house?

T ffd AT W F YE Y, T BH
2.5 fraiEer ) afy @ gerar § 3 e
T A 18 fee & @ wgwar g1
for 3T WHT aE YA Afd 1 FpAVEer
Torar § 3R a6 Aee & & wgaar ¢
3HF W & Tl fhaat g7 ¥

a)2 km b)1.5 km

c)1km 1.75 km
=(,15 e é
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—6u A runs twice as fast as B and B runs thrice as fast
as C. The distance covered by C in 72 minutes,
will be covered by A in:

A, B 3T B & QN[ d glsam &, e ash
¥ C ¥ AT SR Ferer B C garT 72 fA«e
# a7 $r 7§ gft, AgERT FR A AT
a) 18 minutes b) 24 minutes

c) 16 minutes 12 minutes
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A father and his son start at a point A with
speeds of 12 km/h and 18 km/h respectively
and reach another point B. If his son starts 60
min after his father at A and reaches B, 60 min
before his father, then what is the distance
between A and B?

s Rar iR 3uE 97 A W
Faw: 12 frefvaer it 18 frafifger &
afy & % @ § i qm T

6

B
tlﬁl?T %I IRy IEET O AR 1?331 ¥ 60
e &g A #mwm%aﬁt
mﬁﬁ?n 6 QBFTB\'R'%?-I?IT%,
draskeFrAwRrec Fe? °
a) 90 km 72 km
c) 36 km d) None of these
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If a man increases his speed by 25%, he can
save 30 minutes of journey time. Find his
usual journey time.

IR FI$ AT JUA AT 25% Feram

g @ g8 Ul AT F gAT F 30 e

m%ﬂ 98 AT & H fhder @Hg
?

a) 60 min %150min

c) 90 min d) 120 min
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If a man increases his speed by 25%, he can
save 30 minutes of journey time. Instead,
he increases his speed by 50%, how much
journey time he can save?

R IS qfFd HT&AT IfQd 25% dqSIaT
g a ag el I F AT F 30 e
1 Feld FT FHar g IR T§ YA
afd 50% e aF I L F
AT H g arell Feldt grfi?

a) 60 min 50 min

c) 45 min d) 40 min




A man started his journey 40 minutes later than
usual time due to family fight. But due to urgent
work he increased his speed to 160% of his usual
speed so he reached 35 minutes earlier at his
destination. What is the usual time taken by him
for the journey?

Wl 33 A dolg § U oIgfdd T IET W
3y Ui @HT & 40

:
:
|

a) 3 hours b) 3 hours 15 minutes
c) 3 hours 30 hours /3 hours 20 minutes
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Distance between two points AB = 110 km.
Manoj starts running from A at a speed of
60 km/h and Ravi starts running from B at a
speed of 40 km/h at the same time. They
meet at a point X, somewhere on the line AB.
What is ratio of AX to BX?

ar fagat A T 8 A gft 110km B #ANS
fdg A @ 60km/h &1 afq ¥ alsar Iw
FLaT ¢ aar 3 gy W Wy g 8@
40km/h #r aIfq & Glgem 4w Far g
gt A B & i R Rigx W R &
AX : BX &1 JUTd AT $|

a)2:3 %3:2 c)2:5 c)5:3

2




Two busses A and B started simultaneousl
from cities P and Q towards cities Q and P
respectively. The distance between the
cities P and Q is 350 km. If the ratio of the
speed of A and B is_3 : 4, at what distance
from city Q, the busses meet ?

TH A ATIP F ABQ HT F T &9 ‘B’
A Q & WP A T TF @ §AT W
WET g8 e ag F i A g
350 km ¢ If% Q=T @ fr afy @
IHUTd 3:4 8 o A Q & fhaelr gt

W ael o A
a) 150 km b) 180 km
200 km d) 240 km
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X and Y start at the same time to ride from
place A to place B, which is 80 km away
from A. X travels 4 km per hour slower
than Y. Y reaches place B and at once turns
back meeting X, 16 km from place B. Y's
speed (in km/h) is:

TIT A & TUT B d&, i & TU A
T80 km T e, 9 & e x 3Ry &
§ AT W OAET YR F 8| Y H
&M X 4 km 9fa g¢ il Imar Far
gl Y TIH B UggHY 9 A T
T B ¥ 16 km gt W X ¥ Ao &
Y & Il (km/h H) AT

a)8 12 c) 15 d)9
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A boy is standing on a railway bridge AB at a
point ‘C’ such that the length AC is thrice the
length BC. The boy observed that a train has just
entered the bridge from ‘A’. If he can run with a
speed of 15 kmph towards ‘B’, he can just
escape. Find the speed of the train?

T RE APTaT § AR QA v AT W
B U 9gHq & Yeemst A afy FAr g
a) 45 kmph 60 kmph
c) 75 kmph d) 90 kmph
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A man can reach a certain place in 30 hours.

If he reduces his speed by 1/15%" he goes 10

km less in that time. Find his speed per hour.

TH gHT 30 e A v Afad wuw

D/S 57 15 W 9ET FFaT ¥ AR q@ HTH ARy @Y
& 1/15" % A FT &1 §, A I§ 30 T

|Sskw ok Uokw,, A 10 FFalt &7 @ mar 21 wfa =

39T aIfd HT IGT 9T
a) 6 km/h b)51/2 km/h
c)4 km/h 5 km/h
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